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N 2) Which logics can be used in SPIN tool? ..
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N 4) What is the basic dn‘ference between cha nne!s in Uppaal and channels in SPIN? ..
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2) Provide again the same space if e 12 is urgent.

.......................................................... 9ﬁ’€4¢\50r3&l\~r




3) Provide again this space if €12 is urgent and 22 is committed.
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5)/ Provide the state space of the following system:
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Write in TCTL :
N/ » Inall execution, we can reach a state S1 such that x>3
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-‘,':— Ih‘ierc is an execution where we can reach the state S2 such that que x>5
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Exercise2:Let’s consider the following promela cod 77' ( D

mtype = {msg, ack};
chan to_sndr = [2] of { mtype, bit };
chan to_rcvr = [2] of { mtype, bit }; active proctype Receiver(){
bool seq_in;
active proctype Sender(){ do
bool seq_out, seq_in; i to_revr?msg(seq_in) -> to_sndrlack(seq_in);
do : timeout -> to_sndr!ack(seq_in);
:: to_revrimsg(seq_out) -> to_sndr?ack(seq_in); od
if }
:: seq_in == seg_out ->seq_out = 1 - seq_out;
;s else
fi
od
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1) How many processes in this code? ..... 2 . Which ones? .. gWL I?ﬂ-—@tf ..

) e T Are they active or not? *‘% -
2) Propose an automaton for each one: )
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